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o FUA e FT A [F §G q97-97 § gRa ge7 32 8

Please make sure that the printed this question paper are it contains
32 questions.

o gyruF § aned &Y @ AT /4 T @ TR TU Qe @ 8 Tu-yiad & JeI-
7= 97 fg

The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

»  FUA TFT H F TG JE BT 3 B, IRT B FHE AT 7@
Before beginning to answer a question, its Serial Number must be written.

o Gv-YRem & aig § @il g1/ 9 T 881
Don’t leave blank page/pages in your answer-book.

o GHCgRaH & SHiET g oI Sic Tel e o sagEagar & E S
FTT T FE)

Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o GEEN SIgET T do FIT-GF GT FeT @)
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Candidates must write their Roll Number on the question paper.
o Zya g & FY &7 @ §d 7 ghhEa @Y & [F mwwua g 7 a8t 2 qdar @
gy &9 T 7 @ig o @ w@hare T B sm

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T (39T :

General Instruction :
(i) &% wwT o 8
All questions are compulsory.
(i) sTHsT9H 7 g7 32 w7 F ol fFaw @sl o, § Golv g7 ac 1 & :

This question paper consists of 32 questions in all which are
divided into four Sections: A, B, Cand D :
T 5T @ H1 16 7% FA 16 57 &, HdF G971 5 # B

Section A : There are 16 questions from 1 to 16, each of 1 mark.
T q: 57 @€ 717 721 7% 3075 H97 2, G9F G973 3% T 2
Section B : There are 5 questions from 17 to 21, each of 3 marks.
&S ;57 @S § 22 027 0% T 6 F¥T 5, qHF HIT 4 5F F B
Section C : There are 6 questions from 22 to 27, each of 4 marks.
T T 57 @5 §28 G 82 7% Fa 5 W7 3, 9% G975 o # 2
Section D : There are S questions from 28 to 32, each of S marks.

(i) @& @ 7 & go7 7 s A%y /9 T4 21 GF @ B 997 @ G &

Section D contains two questions where internal choice have been

provided. You have to choose one of them.
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s - oA
SECTION - A
1. 3% 306 AT 657 & HCF 9 B, & 36H LCM ® : 1
(A) 2482 (B) 22338
(C) 2754 (D) 5913

If HCF of 306 and 657 is 9, then its LCM is :

(A) 2482 (B) 22338
(C) 2754 (D) 5913
2. 6x2-7x-3 % LIS B : 1
13 7 3
T = “gie
©) <= (D) & & 9 T

The zeros of 6x%2 - 7x— 3 are :

13 7 3

@ - B

o =B ) [Nbne bf thése
5" 1B

3. WHON ajx+by+c, =0 AR ayx+by+c, =0 E—1—=ﬂ=£1—, ar
a; by ¢

Frefafea o S=-a1 grr e ? 1
(A) g = (B) I B AEl
(©) omRfm &a (D) T® 4 Hig 781

@ _b _e

If in equations a;x+bjy+c; =0 and a;x+byy+cy =0, =
az by ¢

then which of the following is true ?

1903/(Set : A) Bl Q.
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(A) Unique solution (B) No solution
(C) Infinite solutions (D) None of these
we: Bl L P 1591 98 B : 1
3 3@ 3
61
A) — B) 6
(A 3 (B)
(C) 5 Y
15th term of A. P. l’EEE i
333 3
61
A) — B) 6
15 g (B)
(C), 5 (D) 19
5. i A, P. & 9w 9§ 5 & 74 ug 13 B, @ I@H @9 ¥ (common
difference) B 1
(A) 1 (B) 2
€ 3 (D) 4

If 3rd term of an A. P. is 5 and 7th term is 13, then its common
difference is :

(a) 1 (B) 2
(c) I3 (D) 4

6. & T AP F AODC ~ AOAB, ZBOC = 100°, £0DC = 60°, @
ZOAB & 9 B : 1

1903/(Set : A)
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M

(8] 100°
& >
(A) 20° B) "80°
(©) 60° (D) 40°
In the given figure AODC ~ AOAB, ZBOC = 100°, £Z0DC = 60°,

then ZOAB is equal to :

< | B) C ey

Ty 60“ o
X} 100°
(A) 20° (B) 80°
(C) 60° (D) 40°

7. A & WY BYSH H el & YU 2 : 3 B, O I aEal H AU © ¢
1

(&) 2:43 (B) 23
€)1 4:9 (D) &H | &g 72

If ratio of the sides of two similar, triangles is 2 : 3, then the ratio of
their areas is :

(A) +2:43 B) 2:3
(C) 4:9 (D) None of these

8. 7% il fosg P @ 9a & HW Wil E, Wl 3@ H g 24 T 2 SR g A
PE AU 250N AgmRPBTH T e 1

(A) 12 &t (B) 12.5 @Ht
(C) 1 ¥ (D) 7 @
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From a point P, the length of tangent to a circle is 24 cm and distance
of P from the centre is 25 cm. The radius of the circle is :

(A) 12 cm (B) 12.5cm
(C) | 1 &m (D) 7 cm
9. UF g W FHiaT Wel We@net # AfrH dem B 1
(A) 11 (B) 2
(€) 3 (D) 4
The maximum number of parallel tangents to a circle is :
(A) 1 (B) 2
(€ 3 (D) 4
10. 4o fag | (5,-7) #1 g0 B 1
(a) 74 (B) -2
(C) 2 (D) 12
The distance of point (5, =7) from origin is :
(a) 74 (B) -2
(CI\ & (D) 12
11. P Ras o (1, -1), (4, 6) 3T (-3, -5) 3, I &% 8 : 1
43
(A) 53 (B) 8
(C) 24 (D) &9 ¥ Hig 7&l
The area of triangle whose vertices are (1, -1), (-4, 6) and (-3, =5)
is :
43
(A) 2 (B) &
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12.

13.

14.

(7)

(C) 24 (D) None of these
ﬂﬁtanﬂ:%,ﬁcoszﬁﬁrqﬁ%: 1
5 12 13 12
A) — B) — Cc) — D) —
(v = e EE (G- e

If tanA= %, then the value of cos A is :

5 12 13 12
A) — B) — C) — i | s
R WER (9 T @
QT
1 tang 30 T 9 % : 1
1+ tan® 30
(A) cos 60° (B) tan 60°
(C) sin 60° (D) tan 30°
Lo
The value of Lanzﬂ is :
1+tan” 30
(A) cos 60° (B) tan 60°
(C) sin 60° (D) tan 30°
g @ aRf AR A F SFFI B 1
(A) 2m:1 B) m:1
€ 1:1 (D) &H 4 B3 T2

The ratio of circumference and diameter of a circle is :

(A) 2m:1 (B m:1

) 181 (D) None of these

1903/(Set : A)
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15. %s@%maﬁ%m?ﬁﬁeﬁtmﬁﬁﬂﬁﬁ,ﬁrmwﬁ[n%]

1

(A) 924 T (B) 308 &4
(C) 1232 &’ (D) =% q Fg 7
The radius of the base of a cone is 7 cm and the height is 6 cm. Its
volume is [n = 2—21) :
(A) 924 cm?® (B) 308 cm®
(C) 1282 cin” (D) None of these
16. 3f P(E) = 0.05, & P (E 7l B : 1
(A) 0.05 (B) 0.5
(€) 0.95 (D) & q P T8
If P(E) = 0.05, then the P (not E) is :
(A) 0.05 (B) 0.5
(C) 0.95 (D) None of these
grs - 9
SECTION-B
17. o i % 6+ /2 % smuRag dern 2 3

Prove that 6 + \E is an irrational number.

18. T faum sgue wa Ao s gras —4 ok 2 &h 3
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19.

20.

21.

22.

(9) 1903/(Set : A)

Find a quadratic polynomial whose zeros are <4 and 2.

3 @ R Famar 7 % ol 12 o wed 9 W @ ¥ Rk o e
il & dre & gl 1241 B, @ &% S0 Rl & dm @ g 9 S 3

Two poles of heights 7 m and 12 m stand on a plane ground. If the
distance between the feet of the poles be 12 m, then find the distance
between their tops.

T tan (A + B) = V3 aﬁ-{tanmmshis, 0° < A+ B<90°, A

> B, @ AR B ® A9 s $ifew 3

If tan (A + B) = +/3 and tan (A 0° < A+ B<90°,

1
B) 3’
A > B, then find the value of A and B.

4ﬁmﬁﬁﬁ%m(sector]ﬂaﬁﬁaﬁiﬁﬁmﬁmﬁ%ﬁﬂ

T 45° Bl (n = 3.14) 3
Find the area of the sector of a circle with radius 4 cm and the angle
at the centre is 15%HE = 9.14}
g - 9

SECTION-C
frfeia T & Bd HioTg 4

3x_5y _

2 3

x, y_13

3 29 6

Solve the following equations :

1903/(Set : A) P.T.Q.
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3x Sy _
2 3 ?

x, y_ 13

3 9 B

23. T GEHOT PGS B FHRIT ST Al Th G @l § 17 §H B9 B A Bo7 B

24.

25.

26.

T 25 941 8, O &Ml ool H s S B 4

The side of a right angle triangle is 17 cm less than the other side. If
length of hypoteneuse is 25 cm, find the length of sides.

TH A.P. B UBd 7 T&l P AT 49 T B 17 T& F AT 289 B, T IF A. P.
% n GG &I I ST D 4

If the sum of first 7 terms of A. P. is 49 and sum of first 17 terms is

289, then find the sum of n terms of A. P.

forelt amar forg & g@ o @i T Tt et i aEar swee Bnd R, fam Fifm
4

Prove that the length of tangents drawn from an external point to a

circle are equal.

TF dE H 5 A, 8 % AR 4 B R P | a7 9 G 3w e
T B 39 Ve B AT BN b GO S g 39 g P BG A B @ A
YTgehdl SId SHifoTg| 4

A box contains 5 red, 8 white and 4 green balls. A ball is drawn at

random. Find the probability of getting a red ball. Also find the
probability that the ball is not green.

1903/(Set : A)
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27. (5, -6) R (-1, -4) & FaE acil @ B y-d4 B Agaa § fasia s 3

? i 9 A favg @ Fewis o s S 4
Find the ratio in which the line joining (5, -6) and (-1, —4) is divided by
y-axis. Also find the coordinates of the point of intersection.
T8 - §
SECTION-D
28, UF I@ME THEHH = 4 360 fFH @w@al 21 3R Iue 9w 5 R/ aver sty
B, O 9" W g oM H 1 Her &9 @ 8 7 Ml B A S i 5
A train travels 360 km at a uniform speed. If the speed had been 5

km/hour more, it would have taken 1 hour less for the same journey.

Find the speed of the train.

29. g Fhm : 5

l+secA  sin’ A
secA | l-gosA

Prove that :

l+secA sin’A
sec A l1-cos A

HEAT
OR
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30.

31.

32.

(12) 1903/(Set : A)
UF gHGd THE 9T @€l 4T $ eEr 9 Rufy 40 #t arfers @l

&l St B oefs gd H1 I BT 60° W Hewt 30° & o 81 WK @ $u%
ST FHore)

The shadow of a tower standing on a level ground is found to be 40 m
longer when the altitude (the angle of elevation) of sun changes from

60° to 30°. Find the height of tower.

o BT 1 T AR B & g 6 3 T 5 6 A AR o d B
60° &, 30 By B wwey g Be & e A, R ol 5w Rgw @

gt‘a”h 5
4

Draw a triangle whose two sides are 6 cm and 5 cm and the angle

: ; ; 3
between them is 60°, construct another triangle whose sides are s of

the corresponding sides of first triangle.
et 4.2 i o a1y 3 & T B REaE 6 & Bow ad @ oig $ w0 A
AT A B 8 B HETs S DI 5

A metallic sphere of radius 4.2 cm is melted and recast into a shape of

cone of radius 6 cm. Find the height of the cone.

e R gem dew o wan B 30 RERE @ AR st w2 i @ arers
T ST iy 5

9T (R F) | 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75

1903/(Set : A)
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Renfiat @t gem | 2 #

2

The distribution below gives the weight of 30 students of a class. Find

the median weight of the students :

Weight (in Kg.) | 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75
No. of Students 2 3 8 6 6 3 2
YT
OR

et Aewd & 25 TRaR! &1 A W @F fefataa 81 AW 9 g9 9ie g

ST i

wd (o7 3)

100-150 | 150-200

200-250

250-300

300-350

oRETt # e

4

12

The table below shows daily expenditure on food of 25 households in a

locality. Find the mean daily exﬁéhdimre.

Expenditure (in Rs.)

100-150

150-200

200-250

250-300

300-350

No. of households

a4

5

12

1903/(Set : A)
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